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General Instructions : EiE

1 Candidate must write his/her Roll Number on the first page of the Question Paper. "Eﬁ_

2 Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. S5/ASS/3, Set— on the Answer-Book.

5 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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FYTA

(318)
Time : 3 Hours] [Maximum Marks : 100
q9g 3 "] [quis : 100
Note : (i)  All questions are compulsory.

(i)
(iii)

flar 0 ()
(ii)
(iii)

Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives (A), (B), (C)
and (D), out of which one is most appropriate. Select the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No extra time is allotted for attempting multiple choice
questions.

W Ul &b IAX ARTT |

Y% U9 & 9T STk oih [ T ¥ |

T T 1 | 10 9% &b UAP U H AR fased — (A), (B), (C) dur (D)
T, B o e Suge ¥ Ol foeedl W @ e IO gd aur oo
ST-gRader ¥ U7 @ &% 9 I fad | sg-faeedt ueAl & fag
stfafed 99 w8l feam s |

1 What type of correlation is expected between heights and weights of students ? 1

(A) Positive (B) Negative
(C) Infinite (D) None
faafel % @e ok oo ¥ fhe ye & dedsyg @ omam Bl § 7
(A) oI (B) *UEH®
(C) o (D) Har o T
2 Positive economics deals with the economic phenomenon : 1
(A) What is (B) What ought to be
(C) Individual behaviour (D) Economy's behaviour
o FAAEA A oMUe qd W wetud ®
(A) @ ¥ (B) @M TN @Ry i
(C) aafra enfiis =TaeR (D) arfemaRen & waER o
3 Ordinal utility analysis was developed by : 1
(A) Marshall (B) Hicks
(C) Robbins (D) Samuelson
HAgEs Sudiiar fasawn s=N faetea fear
(A) =st| (B) few
(€) U= (D) &gwad e
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4 x and y are complementary goods. When price of x rises, demand for y : 1

(A) Rises (B) Falls
(C) Remains unchanged (D) Is uncertain
x@?yﬁwa@@%lﬁﬁxaﬁaﬁqﬁaﬁ%,?ﬁyaﬁﬁz
(A) @@ B (B) =it ¥
(C) =& =B (D) @fidad Bl @

5 As output increases, average variable cost : 1
(A) Increases (B) Decreases
(C) Remains unchanged (D) Initially falls, then rises
W IOEA gedl g, A ofEd i @
(A) Fedl ¥ (B) = ¥
(C) fox war % D) g& # i &, Y et %

6 Different forms of markets are distinguished on the basis of : 1
(A) Number of firms (B) Ease of entry and exit of firms
(C) Product differentiation (D) All the above
IR & fafi= 7ol § 98 39 g WX R War §
(A) ®EI B gE& (B) wAl & YN X T A g
(C) T faug (D) Swr ol e

7 To arrive at "domestic product at market price" from "domestic product at 1

factor cost", the following adjustment is made :

(A) Add subsidies to and subtract indirect taxes from domestic product at factor cost.
(B) Add indirect taxes to and subtract subsidies from domestic product at factor cost.
(C) Add both subsidies and indirect taxes to domestic product at factor cost

(D) Subtract both subsidies and indirect taxes from domestic product at factor cost
“QIET AT WX A AR ¥ TR ®Md U O, 39’ WK BT &g I8
fopar wmar % -

(A) |ET ARG WX A SR H oNfde wEEar Wied © SR oMdd wY Ul ¥ |
(B) WHT @FA WX WG SAE H WA BT Wisd § o oNf¥s Hewmdr "ed © |
(C) @Ed @Fd WX oq SdE H e derar iR oad & IMl Sed @ |
(D) YT AFG U OXQ SAIE ° OMfU% demal ofR e B GMl " ¥ |

8 Transportation of products is a part of : 1
(A) Primary sector (B) Secondary sector
(C) Tertiary sector (D) Government sector
SRl B UH W W W W A ARG & % o ol § 7
(A) wefis & (B) fada® &
©) s &= (D) " & F
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9 The sum of marginal propensity to consume and marginal propensity 1
to save is :
(A) Zero (B) One
(C) Less than one but greater than zero (D) Greater than one
drig ST FofT ot A SE wgR @ A T ¥
(A) o= B) T
(C) & ¥ &H dieT LI T aAf® (D) TH ¥ oo e

10 Borrowings by government is : 1
(A) Revenue receipt
(B) Capital receipt
(C) Neither capital receipt nor revenue receipt
(D) Capital receipt if borrowings are from abroad, all other borrowing are revenue
receipts.
TIHR B HIT W
(A) Tt Wi ®
(B) dsira wita &
(©) T @ Yoirg wid & ok -1 &1 T wika
(D) afe =0 fokerl & foram @ @ doira Wi, o9 ®OT U@ uid |

11  Distinguish between median and mode. 3

At 3 Sga® H WS BT |

12 Explain the concept of microeconomics. Give an example. ) 3

e FAYT B FIUROT TIHARY | Th SIEI0 SNg | E‘%‘

13  State any three assumptions on the basis of which production possibilities 3
are determined.

BHE 9 HAAU gqEU P SUR T IAET GEAY fasfaa @ Sl &

14  Explain "interdependence between the firms" feature of oligopoly. 3

B B “HE H UR@ke Saquar’ fagwar gusme |

15 Explain the meaning of excess supply and its effect on price. 3

MY oty @1 o1 ofR 3Hal &Md WX YWa d9Esy |

16 Explain the meaning of mixed income of self-employed. 3

il o BT o % ot gHemEy |
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17

18

19

20

21

22

55/ASS/3-318-A | 5

Calculate marginal propensity to consume from the following : 3

(i) Increase in national income = Rs. 1,000 crore.

(i) Increase in investment = Rs. 100 crore

frfafea ¥ dmid SUART ygfa @1 aiead sty

(i) wEE em@ ¥ gha = 1,000 w5,
i) Frae & gfe = 100 Bz & TR

Define average propensity to consume and average propensity to save. 3

State the relation between the two.

3fEd SUHrT wgha &R offed s9d Ygfd &I 9T SIS | 341 & S/ d99Y

EiER

What is autonomous investment ? Represent the same on a diagram. 3

e (wmom) Fag 4 @ o 3 7 39 e W fmmsu |

For the Blind Candidates in lieu of Q. No. 19.

Haq gied et & fau wew e 19 F wWE W

Explain the concept of autonomous investment.

e (wmm) fa9r & sreuren gusEY |

Calculate revenue deficit from the following : 3
(Rs. crore)
(1)  TaX IeVENUE ....ccceccvveeerreeeieeeeree e e 200
(11)  Non-taX TEVENUE.......cccvveeevrreerrreerereeerveannns 300
(ii1)) Recovery of 10ans ........ccccceeveiveeviieenieenns 100
(iv) Revenue expenditure ..........ccccceeeverueenenne 600
fr=fafag @ o =T @ uReed eIy
FE 7.
(1) BT WO i 200
() BT T oo, 300
(iil) T B T ovrererrerereeeereerereeereeeereeens 100
(V) TS B oo, 600 e
Explain the difference between 'absence of correlation' and 'perfect correlation'. 4
FEEEY B oTURAfT ofX YU deEed H oAy §HeEy |
When price of a good falls by 20 percent, its supply falls by 40 percent. 4

Calculate price elasticity of supply.

9 Uh qE B bMa 20 wfasd Rl @ oa S@el smufd 40 wfied #A
ESICIERR S A e e e | TG G L Ll
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24

25

26

27
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State the relation between marginal physical product and average physical

product.

qoig difae IAE dur ofed Hilde S & S 999 9q5d |

Calculate personal income from the following :
(Rs. crore)

(1) Savings of private cOrporate SECLOT.........cevvrerrrveerrreersreeeriveeereneens 20
(i1)) Net domestic product at factor cost accruing to

the Private SECLOT ......ceeviieiiieiieiieeieeee et 700
(111)  COTPOTATION TAX veeuvierereeiieriieeieeriieeieestreeteesteesteesaeesaeesseessneeseensnenns 60
(iv) National debt INtEreSt.......c.ecevveeriureerieeeiieeerreeeee e e e eeeeeeaee e 100
(v) Net current transfers from abroad.........c.ccccovevviiiniiieniieieieee, 10
(vi) Net factor income from abroad..........cccccceevvveeeiieenciieencieeennnen. (-) 10
(vil) Current transfer from government ............cccccceevvveeevveenseeerineeennnennn 30 %&?
f=fafiag @ JafRe o &1 9eed &I

(FE %)

() T PR 8 @ T, 20
(i) T & @ qed ara W o3| sdR |

TTRT BTT ceeeieiie ettt et e et e ettt e ettt e e et e eaaa e eeaan e eeaaneeranneeaaes 700
(1) TR BT e, 60
(V) T I T T oo e, 100
(v) ToRett & FE@ A FEITCT oo 10
(vi) Taceml & T " ST .o, () 10
(Vi) TXBR H B FEITLIT covororirrerierineneiereneeeeieseseesesesesseseseseseenes 30

With the help of example explain how the "lack of common unit of
measurement” was a demerit of the barter system.

SR H Ferddr § wuwRY {6 Hu awg-fatrm gomen § ww @
Wsﬁéwm”wﬁwwaﬁlgﬁ

Explain "open market operations" as an instrument of credit control.

g e % IU™E % ' W OCGW AR Gl [RAT §HsEy |

Calculate Quartile Deviation of marks obtained by seven students :
30, 100, 70, 40, 60, 50, 80
30, 100, 70, 40, 60, 50, 80
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28 Calculate price index of the year 2013. Take year 2012 as base. 6

Use "Simple Average of Price Relatives" method. Comment upon the result :

Commodity Prices in the Prices in the
year 2012 (Rs.) year 2013 (Rs.)
E 5 7
F 7 7
G 8 10
H 4 5

g9 2013 H eI FADBIh B TRGAT BT | T 2012 B SHER WY |
BRI R o B o R 1 15 R | O T 1 B o G 1 L

ELS| g 2012 F g 2013
ad (8.) Fmd (%)

E 5 7

F 7 7

G 8 10
[EIgiE]

H 4 5 &%.

29 Explain how the following affect the price elasticity of demand of a goods ? 6

(i) Share of expenditure on goods in total expenditure

(i1)) Level of income

TR fop Frefaraa &1 a%g & AT & HFd A & by GHTGd B § 7
(i) P =9 ¥ I W FT B 3T

(i) oM & wWR

30 A consumer consumes only two goods x and y. State the conditions of consumer's 6
equilibrium using utility analysis. Explain what happens when consumer is not
in equilibrium.

T IUHR %Had & agall x i y &1 SUWRT HIaT & | SUAIRIT fagersor
BT SUNIRT Gg@d @ S Say | GusEy f6 afe Sudie d@qed o |
el R B 7 %

31 Explain the distinction between private costs and social cost. Give examples. 6

it @rmal ofk gy @Al & S 9% @ Rl HItWT | SETET0T ST |
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32 Calculate Net National Product at Factor Cost from the following : 6
(Rs. Crore)

(i) Private final consumption expenditure ............ccccceevveeviierveeneenne. 900
(1) PIOFIt oot e e e e e e s 60
(ii1)) Net factor income from abroad..........cccccceeeviieeeiiercieeniieeennnen. (-) 10
(iv) Government final consumption expenditure ............ccceeveerveeenee. 200
(v)  Consumption of fixed capital ......cccccoeeeviiieiiiieiiieeieeeeeeeeeeen 20
(vi) Gross domestic capital formation ............cccceeveveeviieeieeviieneeeneenne. 100
(VI1)  SUDSIAIES ..veeuvieeiiieiieeieeciie ettt ettt e te e aaeebeessaeesseesaeeenseenns 5
(VIIL) EXPOTES 1oivvieiieeiiieiieeieeiteete et eeite et eseteeaeeseeesaeeaeesasaesaesssesssaessnanns 25
(1X)  INAITECT TAX triiiiiiieiieieiie ettt et eere e e e e e e earaeeeaaeeas 70
(X)) TMPOTLS weeeeniiieeiieeeeee et ettt et e st e e s e e e b e enasae s 30 %&?
LRGeS A S 145 1 AR K [ A A 2 BT | e MR R o G i LA
@FE %)
() T S SUMIT S o 900
(1) BT ettt et ettt et e et e et e et e et e e e s e aneaner et et eneaneaneaneanarnas 60
(iii) Tl & FEE FET S oo, () 10
(iv) TBTA ST TUHMET ST oo 200
(V) STAA YOI BT TTFT et eteeiene e eteaese s eeenseneenaes 20
(vi) FHA T G FTATOT o, 100
(Vi) SMIB FEIT ..oveeeiee e, 5
(VITD) T e, 25
(1X)  BTTTTET BT oeeniiniiniiiii ettt et ei et et et et eaieenaeaneaneaneaneenns 70
(X)) TTTA cetteeeiie ettt et et e et e et e e et e e eateeeaaaeeattneeastneeeranneannes 30 E%‘
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